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The figures in the right-hand margin indicate marks
eg¢ Q\@«m@ gel sty gga geYle 4oIes
Answer all questions serially and continuously from Group

A and Group—B as per instructions, and any two from
Group—C within 200 words each
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Hllustrate your answers with labelled diagrams and
examples, wherever necessary

ZIRgIR ger RIAIEe 66 8 QRIeed @8
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SECTION—DB (b) : Generally, what is the site of fertilization
( Z logy ) in humans?
00 =
35 ARINQEGE  19TIER AL 6Q0IeR
. Full Marks :

6Ll ?
Time : 1% hours

(i) Ovary | @AI9L
GROUP—A

qaus (i) Uterus / Q62
@—

; (iii) Vagina / 69

- 1. Choose the correct answer from the choices

. O“..—.O . H —~
given under each bit : Hx)H (iv) Fallopian tube / @Q<QIL1 @@1
gesue 2°aea QARSI qageee aug OR
Qe0d Qg 6ad : (c) Which is the enzyme used for joining the
nica fragments of DNA?

gt e
(@ Which organ’s outer covering 18

albuginea? _ : R §4g 6dIG9I6Q 69Q NRAIAT
cod e QIaY AISAE 6268 646 QERY QL0 621RAIN?
(i) Testis (i) Ligase
gK19e AR
(ii) Ovary (i) HquMBoammm
GalaQ CAIREAEAR
(iij) Kidney (izi) msaobmﬂommm
Qe 6QIQIPIR
(iv) Brain (iv) Transferase
aga QIRQETERR
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( 4 ) ( §)

{d) Which is the genetic material of AIDS (f) Which gene is involved in cancer?

irus? 69 BR @99 6QIG6Q A°%Q?
9eq §614e @_Wﬂom@ aQlel CORG ? 3 Supplementary gene / mwm@@ e
(ii) Operon gene / (6UQR. ¥,
U Woﬂdﬁ-waﬂmﬁaoa DNA (iii) Oncogene / 26T
Q-Qge @R , (iv) Complementary gene / QYA @

(i) Single-stranded DNA

98 9ge aNav () Which type of sex determination is

found in humans?

(iii) Single-stranded RNA AQUUAINEER 698 gRIR AF @RIQd
9@ ge IR RS ?
(iv) _Wocgm-mqmﬁama RNA | I V@A |w%~
(i) ZW-Z2Z
{e) What is the term used to represent the ” ?) (&)
birth of a human foetus? . (iii) XX-XO
AQ8Y I @9 gaal @eae QR IR . i) %wlmw
. v
6RQ 40 QURLIQ !QILN? |
(i Ovulation (h) What is the surgical method for
N_me_mﬂ preventing pregnancy in which vas
deferens is incised?
(iij Abortion : 6RQ 26T QI JRRIRQ QAT qauegl
9RaIe A8 QQUQAIN?

(i) Tubectomy / QYEQERICN

(iiij Conception i
(ii) Vasectomy / Q66U

appia (iii) Sterilization / QLR
(iv) Parturition (iv) Hysterectomy / QQESEREQ
aigadg /24-A ( Turn Quer )
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E Which cell organelle of spermatid forms
- acrosome of sperm?
o _,vm_ﬂ 9314 Q. 6QlgaEel  4IIg
. zgdee Q8 <daM?
(1) Mitochondria
aIResiegal
" (i) Golgi body
aRd da
(iij) Ribosome

QURACNERIT]
(iv) Lysosome

RUREAIERIF]

() Which is the genotype of Turner’s
~ syndrome? :
caead J6gIMQ 6QuS FRd9d?

fij XO

(i) XXY

(i) XYY

( Continued |
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2. Fill in the blanks selecting the correct answer
from the choices given under each bit : 1x7=7

gecia 2°G6Q W2IKINAR Feggee auq 0
QRAE QI JRGIR gad @ :

(a) Cleavage pattern is influenced by ____ .
QAUYR dRIQ __ QI gNTe 62IQaI
(i) cytoplasm
_ 6@I9Qd
(i) yolk
- d1ee
(i) nucleus
g
(iv) centrosome
696€Ix¢]

(b) A colour-blind person cannot

distinguish colour/colours.
9 ogle 94§ QR /QAYRR QLY
Qidalea QIE
(i) all / QAag
(i) red /| RR

(iii) green / A9
(iv) red and green / RN Y AR
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_{¢) The confirmative test for typhoid is . P e otideis
0y Ais aisl 6208 | ) .
2R §aQ FasaIat .,.v IANGE R gelaa Gau|

(i) Widal | (i) stimulant
GeoIlw | QACARR
(i) Mantoux " (ii) sedative
AlIRCY _ | q12gQ
(i) CBC (iii) wmzcowHommw
555 2RI FEIQRY
s _ | (iv) narcotic
o/ . | Ra199Y
gaae |

M (f/ Embryo at 16-celled stage and without
cavity is called

(d) Patents are given for

21g69Iee 4R dix QIR “ 09-6qIS10  GQaTIR  QaIegIg
(i) discoveries | QeI
29| (i) morula
celQmI

(ii) inventions
(ii) blastomere

egiaE 6RIRRS!
&
‘oe UWO m.u-m.n see
(iii) piracy (i) blastula
6@e @qicl 6R1QQ
(iv) gene therapy (iv) gastrula
@e 9@l QQe
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@» .I.l. causes common cold.
&_W__Qm_ &ﬂ &.@ @EQl

(i) Virus
Yolq

(i) Bacteria
g

(iii) Protozoa
@6’ giant

(iv) Fungus |
Q@YW . 4_

GROUP—B |
g4—Saua |
3. Answer any four of the H,ozosmbm (restrict
: each answer to 2 to 3 important

sentences) : 2x4=8
faage caeAed <leqIs JEQ Qae a2
(gecia Qa9 9¢ Q@ NG @@@@;@ Qleyeq QIFie
od) :
fa) Why are testes extra-abdominal in
human males?
gasnIeee ga1dg QLe QEIeeqIn?

(b) What is surrogate mother?
© . aegeier §eg AIGI @'€?

( Continued )

(11 )

() What is criss-cross inheritance?
@Q-99 4GS Q'E? .
(d) What is ectopic pregnancy?
PR JRUQE & ?
(e) Mention the causes of drug abuse.

P4l 6AQR QQ AVIAQ FIAEAIR RS [QA

(/) What is lactation? Mention its

significance.

FIQIAE @617 I2IQ AU QNS !

GRrROUP—C
—alg

Answer any two of the following questions (restrict
each answer within 200 words) : S5x2=10

@67IQ 66T QRS g9a Q@a {U (g6syed
QRQ 9005 4R ANER AFe Qdl) :

4. Give an account of human female
reproductive system.
AIRQ 91-900 092 9@ JQdl {al
5. Describe the process of oogenesis.
GRlg Q9a gqal ege el
/24-A ( Turn Over )
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6. Discuss sex determination in birds and
honeybees.

Qf1 6 AYABAIGES A AFIRE 2l6RIeR 9al

7. Write notes on any two of the following :
2Y.x2=5

Q618 696163 QA% QUEa T4 Y :

(@) Gene therapy
@a oaal

(b) ZIFT
62RUIITT

(c) Human ovary
AQIIQ Al

(d) Klinefelter’s syndrome
Feacarncaq dedlq

* ok ok
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